\$50,000.00

\$246,000.00

BID SUMMARY March 1, 2010

■ No. CC030110-02.6 – 2010 Roadway Lane Line Painting Project, Project No. PM10-1860 / CIP No. 50594 (Opened February 23, 2010)

ADVERTISING AUTHORITY	\$75,000.00
 Dakota Barricade LLC** Traffic Services Company LLC* 	\$100,000.00 \$61,420.00

No. CC030110-02.7 − Cationic Polymer-Coagulant (Opened February 23, 2010)

1.	SNF Polydyne	No Bid
2.	Nalco Company*	\$32,000.00
3.	Kemira Water Solutions Inc.**	\$30,000,00

No. CC030110-02.8 – Odor Control Chemical for Lift Stations (Opened February 23, 2010)

ADVERTISING AUTHORITY \$75,000.00

1. Siemens Water Technologies, Inc.* \$64,800.00

 No. CC030110-02.9 – Landfill Leachate Removal and Remediation, Project No. LF07-1681 (Opened February 23, 2010)

	, ,,,,,,,,
Lind-Exco, Inc.*	\$269,499.81
SCS Field Services*	\$311,380.00
Olander Contracting Co.*	\$289,970.00
Veit and Company Inc.*	\$316,166.00
Quinn Construction Inc.*	\$239,790.00
Belfor Environmental*	\$230,108.30
	SCS Field Services* Olander Contracting Co.* Veit and Company Inc.* Quinn Construction Inc.*

■ No. CC030110-02.10 - One (1) New Current Model Year Sander Spreader Truck with Plow (Opened February 23, 2010)

ΑD	OVERTISING AUTHORITY	\$230,000.00
2.	Boyer Trucks Sioux Falls** Sanitation Products* Eddie's Truck Sales*	\$193,295.00 \$185,127.75 \$192,203.00

^{*} Bid Bond Submitted

ADVERTISING AUTHORITY

ADVERTISING AUTHORITY

^{**} Cashier's Check or Money Order Submitted

BID AWARD SUMMARY

LETTING DATE: February 23, 2010

PROJECT: Landfill Leachate Removal and Remediation

Project No. LF07-1681 / CIP No. 50694

RECOMMENDATION: Award Total Bid in the amount of \$230,108.30 to Belfor Environmental at the March 15, 2010 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS	TOTAL BID
Belfor Environmental	\$230,108.30
Quinn Construction, Inc.	\$239,790.00
Lind-Exco, Inc.	\$269,499.81
Olander Contracting Co.	\$289,970.00
SCS Field Services	\$311,380.00
Veit Company, Inc.	\$923,766.00

City staff recommends awarding this project to <u>Belfor Environmental</u> for a total bid amount of \$230,108.30 based on unit pricing with the following appropriation:

City of Rapid City

		1		
FUNDING SOURCE	TOTAL	Solid Waste		
ADVERTISING AUTHORITY	\$246,000.00	\$246,000.00		
ENGINEER'S ESTIMATE	\$279,190.00	\$279,190.00		
APPROPRIATION DATA:				
FUNDING SOURCE	TOTAL	Solid Waste		
COST CENTER		7102		
LINE ITEM		4390		
FUNDING CENTER		0615		
BID AMOUNT	\$230,108.30	\$230,108.30		
CONSULTANT:	Kely	5/	DATE:	2/25/10
	Rodney W. Am	broise PF	-	
,	Venck Associa	tes, Inc.		, ,
	//	//		
PROJECT MANAGER:	1/0	_ 1 050	DATE:	2/25/10
	Dan Coo	The second liverage of		

City of Rapid City

Landfill Leachate Removal & Remediation Project No. LF07-1681/CIP No. 50694

Bids Opened: 2:00 p.m.

Date: 2-23-10

			tractor	Contractor Contractor		Contractor			
		Belfor Er	vironmental	Quinn Construction, Inc. Lind-Exc		Exco, Inc.	Olander Contracting Co.		
Bid Item	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1 Mobilization & Decombilization	1.00 L.S.	\$10,197.00	\$10,197.00	\$15,000.00	\$15,000.00	\$10,259.18	\$10,259.18	\$24,000.00	\$24,000.00
2 Health and Safety Plan	1.00 L.S.	\$1,287.00	\$1,287.00	\$15,000.00	\$15,000.00	\$13,154.63	\$13,154.63	\$3,000.00	\$3,000.00
3 Drilling Extraction Wells	150.00 V.F.	\$230.00	\$34,500.00	\$105.00	\$15,750.00	\$129.49	\$19,423.50	\$120.00	\$18,000.00
4 Extraction Well	145.00 L.F.	\$67.77	\$9,826.65	\$150.00	\$21,750.00	\$145.12	\$21,042.40	\$250.00	\$36,250.00
5 2-Inch HDPE (SDR 17)	1,360.00 L.F.	\$22.61	\$30,749.60	\$10.00	\$13,600.00	\$16.47	\$22,399.20	\$25.00	\$34,000.00
6 8-Inch PVC (SDR 35)	193.00 L.F.	\$49.85	\$9,621.05	\$30.00	\$5,790.00	\$19.99	\$3,858.07	\$40.00	\$7,720.00
7 Tie into Existing Manhole	1.00 EA	\$2,575.00	\$2,575.00	\$750.00	\$750.00	\$558.12	\$558.12	\$2,000.00	\$2,000.00
8 Flow Meter Vault	15.00 C.Y.	\$2,165.00	\$32,475.00	\$2,000.00	\$30,000.00	\$2,534.73	\$38,020.95	\$2,200.00	\$33,000.00
9 Pump, Meters & Controls	5.00 EA	\$11,000.00	\$55,000.00	\$16,000.00	\$80,000.00	\$16,949.78	\$84,748.90	\$15,000.00	\$75,000.00
10 Electrical	1.00 L.S.	\$34,000.00	\$34,000.00	\$32,000.00	\$32,000.00	\$43,512.07	\$43,512.07	\$50,000.00	\$50,000.00
11 Access Road Construction	50.00 L.F.	\$73.34	\$3,667.00	\$60.00	\$3,000.00	\$61.66	\$3,083.00	\$40.00	\$2,000.00
12 Site Restoration	6,000.00 S.Y.	\$0.52	\$3,120.00	\$0.65	\$3,900.00	\$0.79	\$4,740.00	\$0.50	\$3,000.00
13 Erosioin & Water Pollution Control	1.00 L.S.	\$1,700.00	\$1,700.00	\$1,500.00	\$1,500.00	\$2,589.79	\$2,589.79	\$1,000.00	\$1,000.00
14 Pipeline Insulation (owner directed use)	1,000.00 S.F.	\$1.39	\$1,390.00	\$1.75	\$1,750.00	\$2.11	\$2,110.00	\$1.00	\$1,000.00
	BID TOTAL		\$230,108.30		\$239,790.00		\$269,499.81		\$289,970.00

		Cor	itractor	Contractor		
		SCS Field Services		Veit Con	pany, Inc. ⁽¹⁾	
Bid Item	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	
1 Mobilization & Decombilization	1.00 L.S.	\$22,000.00	\$22,000.00	\$32,200.00	\$32,200.00	
2 Health and Safety Plaπ	1.00 L.S.	\$4,100.00	\$4,100.00	\$4,300.00	\$4,300.00	
3 Drilling Extraction Wells	150.00 V.F.	\$180.00	\$27,000.00	\$60.00	\$9,000.00	
4 Extraction Well	145.00 L.F.	\$110.00	\$15,950.00	\$120.00	\$17,400.00	
5 2-Inch HDPE (SDR 17)	1,360.00 L.F.	\$10.00	\$13,600.00	\$8.60	\$11,696.00	
6 8-Inch PVC (SDR 35)	193.00 L.F.	\$60.00	\$11,580.00	\$40.00	\$7,720.00	
7 Tie into Existing Manhole	1.00 EA	\$3,000.00	\$3,000.00	\$3,100.00	\$3,100.00	
8 Flow Meter Vault	15.00 C.Y.	\$2,750.00	\$41,250.00	\$43,400.00	\$651,000.00	
9 Pump, Meters & Controls	5.00 EA	\$16,200.00	\$81,000.00	\$19,000.00	\$95,000.00	
10 Electrical	1.00 L.S.	\$45,000.00	\$45,000.00	\$76,850.00	\$76,850.00	
11 Access Road Construction	50.00 L.F.	\$130.00	\$6,500.00	\$100.00	\$5,000.00	
12 Site Restoration	6,000.00 S.Y.	\$0.70	\$4,200.00	\$0.75	\$4,500.00	
13 Erosioin & Water Pollution Control	1.00 L.S.	\$14,200.00	\$14,200.00	\$4,000.00	\$4,000.00	
14 Pipeline Insulation (owner directed use)	1,000.00 S.F.	\$22.00	\$22,000.00	\$2.00	\$2,000.00	
	BID TOTAL		\$311,380.00		\$923,766.00	

⁽¹⁾ Bid item 8 - Flow Meter Vault - for Veit Companies bid has been corrected. Their original bid used the unit price for the extended price. This changed their bid from \$316,166.00 to \$923,766.00

Exhibit

Landfill Leachate Removal and Remediation Project No LF07-1681

